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fferRaa gonfies 7 Gae! G99l BIe! 949 oS §9 ?
(i) NO (i) NO~ (iii) NO* (iv) NO*

Answer any fwo questions from the following:

fasfeiRe @-eial 76 elvs T nes
@1 ISP IR A

1 e kinetic ener of an electron has been found to be 5.76x10 " J.
(3) (i) The kineti gy of an el has been found to b 6x1070J

Calculate wavelength associated with the electron.
(Mass of electron = 9.1x10 kg ; ©=6.626x107*Js)
(ii) What are the differences between orbit and orbital?

(i) @ TEEER A & 5.76x107° J | @7 o= g (1 Il (FEREER o
= 9.1x10 kg ; WFIEIF h=6.626x10*Js).

(i) ¥ ¢ IHEI N AdFel & &9

() TSel SAgeHD! TADH! AT 5.76x107° ) USSRl B W9 I golded Rid
g aRr-oed Al 1)

(Mass of electron = 9.1x10' kg ; h=6.626x10"*Js)
(i) ‘Orbit’ AfY ‘Orbital’ 7t & f=1aT © ?

(b) (i) Write down the shape of the d_, orbital.

(i) Lattice energy of MgO is higher than that of NaF. — Explain.
(iii) What is hydrogen bond? ‘

() d_, TS G (e

(i) MgO-9a3 i *If& NaF S @, 176 i 361
(iii) 2f20eice % & ¢

() d, BERN IR oG |

(i) NaF ¥=aT MgO &I ey Il &R SUTGT §°6 — ARAT TR |
(iii) BIgRIS I HDI @ BI?

(c) (i) Predict the geometry of shape of different compound — according to VSEPR

1017

theory (a) I; (b) IF;.

(i) What is bond order?

(i) VSEPR 3@ S (sl (erafm sigfe @
(@) I; (b) IF;

(i) % SIEE A TEmTEA F 2

(i) VSEPR Rigi ofeR aa fesua faft=t diffieswa er-saifafa Mot
TR —@@)I; (b)IF

(i) =M HH TAB D B ?

5x2=10

3+2

2+2+1

4+1




